)| X R

iz ot 2R — 2% VRS S
mFE1 1,797 934 863 409
ATE 2 1,242 392 850 213
mFE3 1,749 287 1462 203
mTE4 1,210 2 1208 28
mFES 2,358 827 1531 380
ATE6 2,856 980 1876 335
7 2,425 383 2042 188
ATES 2,810 14 2796 136
Al 2,176 702 1474 272
el 2 1,332 709 623 269
3 2,411 870 1541 439
el 4 2,095 564 1531 240
5 1,511 574 937 267
el 6 2,140 935 1205 344
w7 2,042 434 1608 305
5118 838 128 710 92
iilpE=g 1,586 627 959 338
m]fE 2 1,282 595 687 261
HIE 3 1,915 679 1236 371
B]/= 4 1,959 1108 851 292
HIE 5 1,476 342 1134 147
B]/= 6 1,836 491 1345 198
BI= 7 1,487 341 1146 129
Bz 8 1,275 313 962 168
REA1 1,773 620 1153 264
REA?2 2,119 852 1267 324
REAS3 1,370 488 882 214
REA4 2,016 938 1078 359
REAS 1,305 598 707 292
REA6 2,002 910 1092 279
REA7 o[- 0 6
REAS 1,402 639 763 185
FEREA 1 1,531 586 945 210
FEREA 2 1,475 683 792 263
FEREA 3 1,032 347 685 163
FEREA 4 1,957 452 1505 174
FEREA 5 1,122 691 431 195
FEREA 6 960 556 404 117
FEREA 7 1,603 411 1192 306
FEREA 8 2,162 406 1756 129
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el X i E R

iz ot 2R — 2% VRS S
RAEE1L 1,670 332 1338 288
RREE?2 1,477 468 1009 329
RHEES 2,176 765 1411 443
RHEE4 1,438 458 980 340
RHEES 2,146 433 1713 512
RHEEG6 2,515 846 1669 505
EHEE1 2,469 869 1600 365
Liz] = E=1=p) 1,815 446 1369 595
FEHEE3 964 333 631 161
BHEE 4 947 339 608 137
FEHEES 949 236 713 411
AHSEE6 1,827 546 1281 303
ast 88030 28479 59551 13893
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